

Sturm-Liouville Problem in Quantum Calculus*

Ahmed Fitouhi[†], Akram Nemri[‡]

*Département de Mathématiques Faculté des
Sciences de Tunis, 1060 Tunis, Tunisia.*

and

Meniar Haddad[§]

*Faculté des Sciences de Tunis,
1060 Tunis, Tunisia.*

Received July 29, 2006, Accepted September 8, 2006.

Abstract

This paper aims to study the q -analogue of the Sturm Liouville problem and to give an asymptotic behaviour at infinity for its solution φ . Additionally, we establish an asymptotic expansion of the q -Bessel function j_α for $\alpha > -\frac{1}{2}$. We are not in situation to claim that our results are new but they have the advantage to show that the method used by Agranovich and Marchenko remain true.

Keywords and Phrases: *Quantum calculus, q -Analysis, q -Integral transform.*

*2000 *Mathematics Subject Classification.* 33D60, 26D15, 33D05, 33D15, 33D90.

[†]E-mail: Ahmed.Fitouhi@fst.rnu.tn

[‡]E-mail: Akram.Nemri@fst.rnu.tn

[§]E-mail: Meniar.Haddad@fst.rnu.tn

1. Introduction

In the classical spectral analysis (see [2] , [14],...), we denote by L a linear differential operator of the second-order given by on $[0, \infty[$ of the form

$$Lu = \frac{d^2u}{dx^2} - p(x)u, \quad (1.1)$$

where $p(x)$ is a real function, continuous which is integrable on $[0, \infty[$.

We note by $\varphi(x, \lambda^2)$ and $\theta(x, \lambda^2)$ the solutions of

$$Lu = \lambda^2u \quad (1.2)$$

with initial conditions

$$\begin{aligned} \varphi(0, \lambda^2) &= \sin \alpha, & \varphi'(0, \lambda^2) &= -\cos \alpha; \\ \theta(0, \lambda^2) &= \cos \alpha, & \theta'(0, \lambda^2) &= \sin \alpha, \end{aligned}$$

where λ is an arbitrary positif real number and α is an arbitrary real number.

It is known that solving (1.2) is equivalent to solving the following volterra integral equation

$$\begin{aligned} u(x, \lambda^2) &= \sin \alpha \cos(\lambda x) - \frac{\sin(\lambda x)}{\lambda} \cos \alpha \\ &+ \int_0^x \frac{\sin(\lambda(x-y))}{\lambda} p(y)u(y, \lambda^2) dy \end{aligned} \quad (1.3)$$

where $x \in [0, +\infty[$, $\lambda \in \mathbb{R}_+^*$ and $p(x)$ is an continuous integrable function on $[0, +\infty[$.

Hence, for all $\lambda \geq \rho > 0$, $\varphi(x, \lambda^2)$ is a bounded function and have the asymptotic formulas

$$\varphi(x, \lambda^2) = \mu(\lambda^2) \cos(\lambda x) + \nu(\lambda^2) \sin(\lambda x) + O(1) \quad (1.4)$$

where

$$\mu(\lambda^2) = \sin \alpha - \int_0^\infty \frac{\sin(\lambda y)}{\lambda} p(y) \varphi(y, \lambda^2) dy, \quad (1.5)$$

$$\nu(\lambda^2) = -\frac{\cos \alpha}{\lambda} + \int_0^\infty \frac{\cos(\lambda y)}{\lambda} p(y) \varphi(y, \lambda^2) dy. \quad (1.6)$$

Similarly, we have

$$\theta(x, \lambda^2) = \mu_1(\lambda^2) \cos(\lambda x) + \nu_1(\lambda^2) \sin(\lambda x) + O(1) \quad (1.7)$$

where

$$\mu_1(\lambda^2) = \cos \alpha - \int_0^\infty \frac{\sin(\lambda y)}{\lambda} p(y) \theta(y, \lambda^2) dy, \quad (1.8)$$

$$\nu_1(\lambda^2) = \frac{\sin \alpha}{\lambda} + \int_0^\infty \frac{\cos(\lambda y)}{\lambda} p(y) \theta(y, \lambda^2) dy. \quad (1.9)$$

In the present paper we are concerned to give its q -analogue and study its asymptotic behaviour at infinity.

This paper is organized as follows: in section 2, we present some preliminaries results and notations that will be useful in the sequel. Further it is natural to consider in section 3, the asymptotic behaviour of $\varphi(x, \lambda^2; q^2)$ and $\theta(x, \lambda^2)$ for $\lambda \rightarrow \infty$. the fundamental result is given in the following theorem

Theorem 1.1. *For λ in $\mathbb{R}_{q,+}$, we have:*

$$\mu(\lambda^2; q^2) \nu_1(\lambda^2; q^2) - \nu(\lambda^2; q^2) \mu_1(\lambda^2; q^2) = \frac{1}{q^{\frac{1}{2}} \lambda}. \quad (1.10)$$

Section 4, is devoted to finding precise asymptotic formulas of j_α : the q -Bessel function for large λ .

2. Notations and Preliminaries

We recall some usual notions and notations used in the q -theory. Let a and q be real numbers such that $0 < q < 1$. In all the sequel we suppose that and $\frac{\log(1-q)}{\log q} \in \mathbb{Z}$.

The q -shifted factorials are defined by

$$(a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k) \quad ; n \in \mathbb{N} \setminus \{0\}, \quad (2.1)$$

$$(a; q)_0 = 1, \quad (2.2)$$

$$(a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k) \quad (2.3)$$

and more generally:

$$(a_1, \dots, a_r; q)_n = \prod_{k=1}^r (a_k; q)_n. \quad (2.4)$$

The basic hypergeometric series or q -hypergeometric series is given for r, s integers by

$${}_r\phi_s(a_1, \dots, a_r; b_1, \dots, b_s; q, x) = \sum_{n=0}^{\infty} \frac{(a_1, \dots, a_r; q)_n}{(b_1, \dots, b_s; q)_n (q, q)_n} [(-1)^n q^{\frac{n(n-1)}{2}}]^{1+s-r} x^n$$

here

$$r, s \in \mathbb{N}; a_1, \dots, a_r \in \mathbb{C}; b_1, \dots, b_s \in \mathbb{C} \setminus \{q^{-k}, k \in \mathbb{N}\}.$$

The q -derivative $D_{q,x}f$ of a function f on an open interval is given by:

$$D_{q,x}f(x) = \frac{f(x) - f(qx)}{(1-q)x}, \quad x \neq 0 \quad (2.5)$$

and $(D_{q,x}f)(0) = f'(0)$ provided $f'(0)$ exist. The q -shift operators are

$$(\Lambda_{q,x}f)(x) = f(qx) \quad (2.6)$$

$$(\Lambda_{q,x}^{-1}f)(x) = f(q^{-1}x). \quad (2.7)$$

We consider the q -operator

$$\Delta_{q,x} = \Lambda_{q,x}^{-1} D_{q,x}^2. \quad (2.8)$$

The q -Jackson integral from 0 to a and from 0 to ∞ are respectively defined by

$$\int_0^a f(x) d_q x = (1-q)a \sum_{n=0}^{\infty} f(aq^n) q^n, \quad (2.9)$$

$$\int_0^{\infty} f(x) d_q x = (1-q) \sum_{-\infty}^{+\infty} f(q^n) q^n, \quad (2.10)$$

and from a to ∞ ,

$$\int_a^{\infty} f(x) d_q x = (1-q)a \sum_{n=1}^{+\infty} f(aq^{-n}) q^{-n}. \quad (2.11)$$

Some q -functional spaces will be used to establish our result. We begin by putting

$$\mathbb{R}_q = \{\pm q^k, k \in \mathbb{Z}\} \cup \{0\}, \tag{2.12}$$

$$\mathbb{R}_{q,+} = \{+q^k, k \in \mathbb{Z}\}. \tag{2.13}$$

Let $L^p_q(\mathbb{R}_{q,+})$, $p \in [1, +\infty[$ be the space of functions f such that

$$\|f\|_{q,p} = \left(\int_0^\infty |f(x)|^p d_q x\right)^{\frac{1}{p}} < +\infty, \tag{2.14}$$

and for $p = \infty$

$$\|f\|_{q,\infty} = \text{ess sup}_{x \in \mathbb{R}_{q,+}} |f(x)|. \tag{2.15}$$

Note that for $n \in \mathbb{Z}$ and $a \in \mathbb{R}_q$, we have

$$\int_0^\infty f(q^n x) d_q x = \frac{1}{q^n} \int_0^\infty f(x) d_q x. \tag{2.16}$$

$$\int_0^a f(q^n x) d_q x = \frac{1}{q^n} \int_0^{aq^n} f(x) d_q x. \tag{2.17}$$

The q -integration by parts is given for suitable function f and g by:

$$\int_0^\infty f(x) D_{q,x} g(x) d_q x = [f(x)g(x)]_0^\infty - \int_0^\infty D_{q,x}(f(q^{-1}x))g(x) d_q x. \tag{2.18}$$

Jackson in [8] defined the q -analogue of the Gamma function as

$$\Gamma_q(x) = \frac{(q; q)_\infty}{(q^x; q)_\infty} (1 - q)^{1-x}. \tag{2.19}$$

We take the definition of q -trigonometric given by T. H. Koornwinder and R. F. Swarttouw (see [11]) with simple changes and we write q -cosine and q -sinus as a series of functions

$$\cos(x; q^2) = {}_1\varphi_1(0, q, q^2; (1 - q)^2 x^2) = \sum_{n=0}^\infty (-1)^n b_n(x; q^2), \tag{2.20}$$

$$\begin{aligned} \sin(x; q^2) &= (1 - q)x {}_1\varphi_1(0, q^3, q^2; (1 - q)^2 x^2) \\ &= \sum_{n=0}^\infty (-1)^n c_n(x; q^2), \end{aligned} \tag{2.21}$$

where we have put

$$b_n(x; q^2) = b_n(1; q^2)x^{2n} = q^{n(n-1)} \frac{(1-q)^{2n}}{(q; q)_{2n}} x^{2n}, \quad (2.22)$$

$$c_n(x; q^2) = c_n(1; q^2)x^{2n+1} = q^{n(n-1)} \frac{(1-q)^{2n+1}}{(q; q)_{2n+1}} x^{2n+1}. \quad (2.23)$$

The reader will notice that the previous definition (2.20) derived from those given in [11] with minor change. These functions satisfy

$$D_{q,x} \cos(x; q^2) = -q^{-1} \sin(qx; q^2), \quad (2.24)$$

$$D_{q,x} \sin(x; q^2) = \cos(x; q^2). \quad (2.25)$$

and we have the following estimations:

$$|\cos(x; q^2)| \leq \frac{1}{(q; q^2)_\infty^2}, \quad (2.26)$$

$$|\sin(x; q^2)| \leq \frac{1}{(q; q^2)_\infty^2}. \quad (2.27)$$

We recall the tow q -analogue of the exponential functions [10], defined by:

$$E(x; q) = (-(1-q)x; q)_\infty = \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q; q)_n} q^{n(n-1)/2} x^n, \quad x \in \mathbb{R}, \quad (2.28)$$

$$e(x; q) = \frac{1}{((1-q)x; q)_\infty} = \sum_{n=0}^{\infty} \frac{(1-q)^n}{(q; q)_n} x^n, \quad |x| < \frac{1}{1-q}. \quad (2.29)$$

The function $E(x; q)$ is analytic and $e(z; q)$ is a meromorphic function on \mathbb{C} having simple poles at $z = \frac{q^{-m}}{1-q}$, $m \in \mathbb{N}$. They satisfy

$$e(x; q)E(-x; q) = 1. \quad (2.30)$$

Proposition 2.1. (1)- If F is any q -derivative of the function f , namely $D_{q,x}F(x) = f(x)$, continuous at $x = 0$, then

$$\int_0^x f(t) d_q t = (F(x) - F(0)). \quad (2.31)$$

(2)- For any function f we have

$$D_{q,x} \left[\int_0^x f(t) d_q t \right] = f(x). \quad (2.32)$$

(3)- If G is any q -derivative of the function g , integrable over (x, ∞) ; $x \geq 0$ then:

$$\int_x^{+\infty} g(t) d_q t = - \lim_{b \rightarrow +\infty} (G(x) - G(b)) = G(\infty) - G(x) \quad (2.33)$$

(4)- For any function f integrable over $(x, +\infty)$, we have

$$D_{q,x} \left[\int_x^{+\infty} g(t) d_q t \right] = -g(x). \quad (2.34)$$

2.1 The q -Wronskian:

Let the following q -difference equation:

$$D_{q,x}^2 u(x) + a(x) D_{q,x} u(x) + b(x) u(qx) = 0 \quad (2.35)$$

Proposition 2.2. We define the q -Wronskian $W(x; q)$ For the two solutions u_1 and u_2 of the q -difference equation (2.35) by:

$$W(x; q)(x) = u_1(qx) D_{q,x} u_2(x) - u_2(qx) D_{q,x} u_1(x) \quad (2.36)$$

$$= \frac{u_1(qx) u_2(x) - u_1(x) u_2(qx)}{(1-q)x}. \quad (2.37)$$

It satisfies the following q -difference equation:

$$D_{q,x} W(x; q) + a(x) W(x; q) = 0. \quad (2.38)$$

Furthermore:

$$W(x; q) = \frac{W(0; q)}{\prod_{k=0}^{\infty} [1 + (1-q)q^k x a(q^k x)]}. \quad (2.39)$$

Proof. It easy to see that, if u_1 and u_2 are tow solutions of (2.35), we have the relation (2.38).

Using the q -derivative definition (2.5), the equation (2.38) can be rewritten as:

$$W(x; q) - W(qx; q) = -(1 - q)xa(x)W(x; q) \quad (2.40)$$

then

$$W(qx, q) = \frac{1}{1 + (1 - q)qxa(qx)}W(q^2x; q). \quad (2.41)$$

So, by induction we have for $n \in \mathbb{N}$:

$$W(q^n x; q) = \frac{1}{1 + (1 - q)q^n xa(q^n x)}W(q^{n+1}x; q). \quad (2.42)$$

We deduce that

$$W(x; q) = \frac{W(0; q)}{\prod_{k=0}^{\infty} [1 + (1 - q)q^k xa(q^k x)]}. \quad (2.43)$$

Proposition 2.3. *The solution of the q -difference equation*

$$(E) = \begin{cases} D_{q,x}^2 u(x) + u(qx) = 0 \\ u(0; q^2) = a \\ D_q u(0; q^2) = b \end{cases} \quad (2.44)$$

is given by:

$$u(x; q^2) = a \cos(x; q^2) + bq^{-\frac{1}{2}} \sin(q^{\frac{1}{2}}x; q^2). \quad (2.45)$$

Proof. Let $u(x) = \sum_{n \geq 0} a_n x^n$. Then

$$D_{q,x}^2 u(x) = \sum_{n \geq 0} a_{n+2} \frac{1 - q^{n+2}}{1 - q} \frac{1 - q^{n+1}}{1 - q} x^n. \quad (2.46)$$

If we replace in (2.44) we have the following recurrence relation:

$$\frac{1 - q^{n+2}}{1 - q} \frac{1 - q^{n+1}}{1 - q} a_{n+2} = q^n a_n. \quad (2.47)$$

then

If $n = 2p$; $p \in \mathbb{N}$, we have

$$q^{2p} a_{2p} = \frac{1 - q^{2p+2}}{1 - q} \frac{1 - q^{2p+1}}{1 - q} a_{2p+2}. \quad (2.48)$$

So, by induction on p , we obtain:

$$a_{2p} = (-1)^p \frac{(1 - q)^{2p}}{(q; q)_{2p}} q^{p(p-1)} a_0. \quad (2.49)$$

Similarly,

if $n = 2p + 1$, we obtain

$$a_{2p+1} = (-1)^p \frac{(1 - q)^{2p+1}}{(q; q)_{2p+1}} q^{p(p-1)} a_1. \quad (2.50)$$

Using the definition (2.20), the solution of (2.44) is given.

Corollary 2.4. For $x \in \mathbb{R}_q$ we have

$$\cos(qx; q^2) \cos(q^{\frac{1}{2}}x; q^2) + q^{-\frac{3}{2}} \sin(q^{\frac{3}{2}}x; q^2) \sin(qx; q^2) = 1 \quad (2.51)$$

which tends to the classical trigonometric relation

$$\cos^2(x) + \sin^2(x) = 1 \quad (2.52)$$

when $q \rightarrow 1^-$.

Proof. Using the relation (2.38) and the condition $a(x) = 0$, we have

$$D_{q,x} W(x; q) = 0. \quad (2.53)$$

So,

$$W(x; q) = \lim_{n \rightarrow +\infty} W(q^n x; q) = W(0; q).$$

$$\begin{aligned}
W(0; q) &= \lim_{x \rightarrow 0} W(x; q) = \lim_{x \rightarrow 0} \left[\cos(qx; q^2) \cos(q^{\frac{1}{2}}x; q^2) + q^{-\frac{3}{2}} \sin(q^{\frac{3}{2}}x; q^2) \sin(qx; q^2) \right] \\
&= \lim_{x \rightarrow 0} \frac{1}{(1-q)x} \left[q^{-\frac{1}{2}} \cos(x; q^2) \sin(q^{\frac{3}{2}}x; q^2) - q^{-\frac{1}{2}} \cos(qx; q^2) \sin(q^{\frac{1}{2}}x; q^2) \right] \\
&= 1.
\end{aligned}$$

The result follows.

3. Asymptotic Expansion of Solutions at Infinity

In this section, we try to study for $\lambda \rightarrow \infty$ the asymptotic expansion of solution $u(x, \lambda^2; q^2)$ of L_q the q -difference operator defined by:

$$L_q u(x) = D_{q,x}^2 u(x) - p(x)u(x); \quad p(x) \in L^\infty(\mathbb{R}_{q,+}) \cap L^1(\mathbb{R}_{q,+}). \quad (3.1)$$

In the next we try to resolve the following q -difference problem

$$L_q u(x) = -\lambda^2 u(qx), \quad x \in \mathbb{R}_{q,+}, \lambda \in \mathbb{R}_{q,+}. \quad (3.2)$$

Proposition 3.1. (The q -Gronwall lemma:)

Let f and g be two positive functions, continuous at 0 and q -integrable over all finite interval of $[0, +\infty[$.

We suppose that

$$f(x) \leq C_q + \int_0^x f(t)g(t)d_q t \quad (3.3)$$

where $C_q \in \mathbb{R}_{q,+}$.

Then

$$f(x) \leq \frac{C_q}{\prod_{k=0}^{\infty} [1 - (1-q)q^k x g(q^k x)]}. \quad (3.4)$$

Proof. Let the following q -Jackson integral

$$y(x) = \int_0^x f(t)g(t)d_q t,$$

we have,

$$D_{q,x}y(x) = f(x)g(x) \leq [C_q + y(x)]g(x)$$

then,

$$C_q + y(x) \leq \frac{1}{1 - (1 - q)xg(x)}(C_q + y(qx))$$

and by induction on n , we deduce that

$$C_q + y(q^n x) \leq \frac{1}{1 - (1 - q)q^n xg(q^n x)}(C_q + y(q^{n+1}x))$$

then

$$C_q + y(x) \leq \frac{1}{\prod_{k=0}^{\infty} [1 - (1 - q)q^k xg(q^k x)]}(C_q + y(0)).$$

The fact that $y(0) = 0$ leads to the result.

Corollary 3.2. *Let f be a positive function, continuous at 0 and q -integrable over all finite interval of $[0, +\infty[$. We suppose that there exist two constants C_q and M_q in $\mathbb{R}_{q,+}$, such that*

$$f(x) \leq C_q + M_q \int_0^x f(t) d_q t.$$

Then we have,

$$f(x) \leq C_q e(M_q(1 - q)x; q^2) \quad (3.5)$$

where $e(x; q^2)$ is given by (2.29).

Definition 3.3. Let $U(x; q^2)$ and $V(x; q^2)$ be twice q -differentiable functions. We define $[U, V]_q$ by:

$$[U, V]_q = U(qx; q^2)D_{q,x}V(x; q^2) - V(qx; q^2)D_{q,x}U(x; q^2). \quad (3.6)$$

Proposition 3.4. (*q -Green formula*)

For $U(x; q^2)$ and $V(x; q^2)$ twice q -differentiable functions, we have

$$D_{q,x}[U, V]_q = V(qx; q^2)L_q U(x; q^2) - U(qx; q^2)L_q V(x; q^2). \quad (3.7)$$

3.1 q -Asymptotic behaviour of $\varphi(x, \lambda^2; q^2)$ when $\lambda \longrightarrow \infty$

For $\lambda \in \mathbb{R}_{q,+}$ let $\varphi(x, \lambda^2; q^2)$ the solution of the following q -difference problem (E_1)

$$(E_1) = \begin{cases} L_q U(x, \lambda^2; q^2) = -\lambda^2 U(qx, \lambda^2; q^2), \\ U(0, \lambda^2; q^2) = q^{-1} \sin(q\alpha; q^2), \\ D_q U(0, \lambda^2; q^2) = \cos(q\alpha; q^2) \quad , \alpha \in \mathbb{R}. \end{cases} \quad (3.8)$$

where L_q is given by (3.2).

Theorem 3.5. *Let $p(x)$ in $L_q^\infty(\mathbb{R}_{q,+})$, then the solution $\varphi(x, \lambda^2; q^2)$ of (E_1) verifies the following q -integral equation:*

$$\begin{aligned} \varphi(x, \lambda^2; q^2) &= q^{-1} \sin(q\alpha; q^2) \cos(\lambda x; q^2) \\ &+ q^{-\frac{1}{2}} \frac{\cos(q\alpha; q^2)}{\lambda} \sin(q^{\frac{1}{2}} \lambda x; q^2) \\ &+ \frac{1}{\lambda} \int_0^x G(x, y, \lambda^2; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y, \end{aligned} \quad (3.9)$$

where $G(x, y, \lambda^2; q^2)$ is the Green kernel defined by

$$G(x, y, \lambda^2; q^2) = \cos(q\lambda y; q^2) \sin(q^{\frac{1}{2}} \lambda x; q^2) - \sin(q^{\frac{3}{2}} \lambda y; q^2) \cos(\lambda x; q^2). \quad (3.10)$$

Proof. We begin by resolving the following q -homogenous equation $(E_{1,h})$

$$(E_{1,h}): \quad D_{q,x}^2 U(x, \lambda^2; q^2) + \lambda^2 U(qx, \lambda^2; q^2) = 0.$$

For this way, if we use the same steps, given in proposition 2.3, we obtain

$$\varphi_{1,h}(x, \lambda^2; q^2) = a \cos(\lambda x; q^2) + b \frac{q^{-\frac{1}{2}}}{\lambda} \sin(q^{\frac{1}{2}} \lambda x; q^2) \quad ; a, b \in \mathbb{R}.$$

Now we are able to give a particular solution $\varphi_p(x, \lambda^2; q^2)$ of (E_1) . For deaps, we use the q -Method of variation of constant. Hence we write $\varphi_p(x, \lambda^2; q^2)$ in the following form

$$\varphi_p(x, \lambda^2; q^2) = a(x, \lambda^2; q^2) \cos(\lambda x; q^2) + b(x, \lambda^2; q^2) \frac{q^{-\frac{1}{2}}}{\lambda} \sin(q^{\frac{1}{2}} \lambda x; q^2)$$

Therefore, if we replace $D_{q,x}\varphi(x, \lambda^2; q^2)$ and $D_{q,x}^2\varphi(x, \lambda^2; q^2)$ in (E_1) , it can be rewritten in the form

$$D_{q,x}[I_1] + I_2 = p(x)\varphi(x, \lambda^2; q^2), \quad (3.11)$$

where

$$I_1 = D_{q,x}a(x, \lambda^2; q^2)\cos(q\lambda x; q^2) + D_{q,x}b(x, \lambda^2; q^2)\sin(q^{\frac{3}{2}}\lambda x; q^2). \quad (3.12)$$

and

$$I_2 = D_{q,x}a(x, \lambda^2; q^2)D_{q,x}[\cos(\lambda x; q^2)] + D_{q,x}b(x, \lambda^2; q^2)D_{q,x}[\sin(q^{\frac{1}{2}}\lambda x; q^2)]. \quad (3.13)$$

On the other hand, if we use (2.24) and (2.25), we obtain the following system

$$\left\{ \begin{array}{l} D_{q,x}a(x, \lambda^2; q^2)\cos(q\lambda x; q^2) + D_{q,x}b(x, \lambda^2; q^2)\sin(q^{\frac{3}{2}}\lambda x; q^2) \\ = 0 \\ D_{q,x}a(x, \lambda^2; q^2)D_{q,x}[\cos(\lambda x; q^2)] + D_{q,x}b(x, \lambda^2; q^2)D_{q,x}[\sin(q^{\frac{1}{2}}\lambda x; q^2)] \\ = p(x)\varphi(x, \lambda^2; q^2) \end{array} \right. \quad (3.14)$$

Hence ,

$$\begin{aligned} D_{q,x}a(x, \lambda^2; q^2) &= \frac{1}{W(x, \lambda^2; q^2)} \begin{vmatrix} 0 & \sin(q^{\frac{3}{2}}\lambda x; q^2) \\ p(x)\varphi(x, \lambda^2; q^2) & q^{\frac{1}{2}}\lambda \cos(q^{\frac{1}{2}}\lambda x; q^2) \end{vmatrix} \\ &= -\frac{p(x)\varphi(x, \lambda^2; q^2)\sin(q^{\frac{3}{2}}\lambda x; q^2)}{W(x, \lambda^2; q^2)}, \end{aligned}$$

where $W(x, \lambda^2; q^2)$ is given by (2.36). So by proposition 2.1 and proposition 2.3 we obtain respectively that

$$W(x, \lambda^2; q^2) = \lambda \quad (3.15)$$

and

$$a(x, \lambda^2; q^2) = -\frac{1}{\lambda} \int_0^x p(y)\varphi(y, \lambda^2; q^2)\sin(q^{\frac{3}{2}}\lambda y; q^2)d_q y. \quad (3.16)$$

In a similar way, we can show that

$$b(x, \lambda^2; q^2) = \frac{1}{\lambda} \int_0^x p(y)\varphi(y, \lambda^2; q^2)\cos(q\lambda y; q^2)d_q y. \quad (3.17)$$

Then the particular solution $\varphi_p(x, \lambda^2; q^2)$ of (E_1) is given by

$$\varphi_p(x, \lambda^2; q^2) = \frac{1}{\lambda} \int_0^x p(y) \varphi(y, \lambda^2; q^2) G(x, y, \lambda^2; q^2) d_q y, \quad (3.18)$$

where

$$G(x, y, \lambda^2; q^2) = \cos(q\lambda y; q^2) \sin(q^{\frac{1}{2}} \lambda x; q^2) - \sin(q^{\frac{3}{2}} \lambda y; q^2) \cos(q\lambda x; q^2). \quad (3.19)$$

Furthermore, by the fact that

$$\varphi(0, \lambda^2) = a = q^{-1} \sin(q\alpha; q^2)$$

and

$$D_q \varphi(0; q^2) = b = \cos(q\alpha; q^2)$$

we can deduce the result.

Proposition 3.6. *Let $p(x)$ a boundary function on $\mathbb{R}_{q,+}$. Then $\varphi(x, \lambda^2; q^2)$ verifies:*

1. For $\lambda \in \mathbb{R}_{q,+}$,

$$\varphi(x, \lambda^2; q^2) = \mathcal{O}(e(C_\lambda(1-q)x; q^2)) \quad (3.20)$$

where

$$C_\lambda = \frac{2 \|p\|_{q,\infty}}{|\lambda| (q; q^2)_\infty^2} \quad (3.21)$$

and $e(x; q^2)$ is given by (2.29).

2. Additionally, if $\lambda \rightarrow \infty$, we have

$$\varphi(x, \lambda^2; q^2) = \mathcal{O}(1; q^2). \quad (3.22)$$

Proof. To prove the first result, it suffices to use theorem 3.5, (2.26) and (2.27). Therefore,

$$\begin{aligned} |\varphi(x, \lambda^2; q^2)| &\leq \frac{|a|}{(q; q^2)_\infty^2} + \frac{|b|}{q|\lambda|(q; q^2)_\infty^2} \\ &\quad + \frac{2}{|\lambda|(q; q^2)_\infty^2} \int_0^x |\varphi(y, \lambda^2; q^2)| |p(y)| d_q y, \\ &\leq \frac{|a|}{(q; q^2)_\infty^2} + \frac{|b|}{q|\lambda|(q; q^2)_\infty^2} \\ &\quad + \frac{2}{|\lambda|(q; q^2)_\infty^2} \|p\|_{q,\infty} \int_0^x |\varphi(y, \lambda^2; q^2)| d_q y, \\ |\varphi(x, \lambda^2; q^2)| &\leq A_\lambda + C_\lambda \int_0^x |\varphi(y, \lambda^2; q^2)| d_q y, \end{aligned}$$

where

$$A_\lambda = \frac{|a|}{(q; q^2)_\infty^2} + \frac{|b|}{q|\lambda|(q; q^2)_\infty^2}$$

and

$$C_\lambda = \frac{\|p\|_{q, \infty}}{|\lambda|(q; q^2)_\infty^2}$$

By proposition 3.2, we obtain that

$$|\varphi(x, \lambda^2; q^2)| \leq A_\lambda e(C_\lambda(1-q)x; q^2). \quad (3.23)$$

and the result follows immediately.

Theorem 3.7. For $p(x)$ in $L_q^\infty(\mathbb{R}_{q,+}) \cap L_q^1(\mathbb{R}_{q,+})$, we have

1. For $\lambda \geq \xi > 0$, $\varphi(x, \lambda^2; q^2)$ is an uniformly bounded function.
2. For a large λ , we have the following estimation

$$\varphi(x, \lambda^2; q^2) = \mu(\lambda^2; q^2) \cos(\lambda x; q^2) + \nu(\lambda^2; q^2) q^{-\frac{1}{2}} \sin(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2) \quad (3.24)$$

where

$$\mu(\lambda^2; q^2) = q^{-1} \sin(q\alpha; q^2) - \frac{1}{\lambda} \int_0^\infty \sin(q^{\frac{3}{2}} \lambda y; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y \quad (3.25)$$

and

$$\nu(\lambda^2; q^2) = \frac{\cos(q\alpha; q^2)}{\lambda} + \frac{q^{\frac{1}{2}}}{\lambda} \int_0^\infty \cos(q\lambda y; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y. \quad (3.26)$$

Proof. The first result follows immediately by proposition 3.6.

Proving the second relation, by theorem 3.5 we have

$$\begin{aligned} \varphi(x, \lambda^2; q^2) &= q^{-1} \sin(q\alpha; q^2) \cos(\lambda x; q^2) - q^{-\frac{1}{2}} \frac{\cos(q\alpha; q^2)}{\lambda} \sin(q^{\frac{1}{2}} \lambda x; q^2) \\ &\quad + \frac{1}{\lambda} \int_0^\infty G(x, y, \lambda^2; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y \\ &\quad - \frac{1}{\lambda} \int_x^\infty G(x, y, \lambda^2; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y \end{aligned}$$

Taking account of the fact that p in $L^1_q(\mathbb{R}_{q,+})$ and by (2.26) , (2.27)

$$\begin{aligned} \left| \int_x^\infty G(x, y, \lambda^2; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y \right| &\leq C_q \int_x^\infty |p(y) \varphi(y, \lambda^2; q^2)| d_q y \\ &\leq C_q \| \varphi \|_{q, \infty} \int_0^\infty |p(y)| d_q y \\ &< +\infty. \end{aligned}$$

leads to the result.

On the same way, if we note by $\theta(x, \lambda^2; q^2)$ the solution of the q -difference problem

$$(E_2) = \begin{cases} L_q U = -\lambda^2 U; \\ U(0, \lambda^2; q^2) = q^{\frac{1}{2}} \cos(q^{\frac{1}{2}} \alpha; q^2); \\ D_q U(0, \lambda^2; q^2) = -\sin(q^{\frac{3}{2}} \alpha; q^2) \quad , \alpha \in \mathbb{C}. \end{cases} \quad (3.27)$$

We show that

$$\theta(x, \lambda^2; q^2) = \mu_1(\lambda^2; q^2) \cos(\lambda x; q^2) + \nu_1(\lambda^2; q^2) q^{-\frac{1}{2}} \sin(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2), \quad (3.28)$$

where

$$\mu_1(\lambda^2; q^2) = q^{\frac{1}{2}} \cos(q^{\frac{1}{2}} \alpha; q^2) - \frac{1}{\lambda} \int_0^\infty \sin(q^{\frac{3}{2}} \lambda y; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y \quad (3.29)$$

and

$$\nu_1(\lambda^2; q^2) = -q^{\frac{1}{2}} \frac{\cos(q \alpha; q^2)}{\lambda} - q^{\frac{1}{2}} \frac{\sin(q^{\frac{3}{2}} \alpha; q^2)}{\lambda} \int_0^\infty \cos(q \lambda y; q^2) p(y) \varphi(y, \lambda^2; q^2) d_q y. \quad (3.30)$$

Theorem 3.8. For λ in $\mathbb{R}_{q,+}$, we have:

$$\mu(\lambda^2; q^2) \nu_1(\lambda^2; q^2) - \nu(\lambda^2; q^2) \mu_1(\lambda^2; q^2) = \frac{1}{q^{\frac{1}{2}} \lambda}. \quad (3.31)$$

Proof. Using theorem 3.7, we obtain that

$$\varphi(x, \lambda^2; q^2) = \mu(\lambda^2; q^2) \cos(\lambda x; q^2) + \nu(\lambda^2; q^2) q^{-\frac{1}{2}} \sin(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2)$$

and

$$\theta(x, \lambda^2; q^2) = \mu_1(\lambda^2; q^2) \cos(\lambda x; q^2) + \nu_1(\lambda^2; q^2) q^{-\frac{1}{2}} \sin(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2).$$

We can deduce that

$$D_{q,x} \varphi(x, \lambda^2; q^2) = -q^{-1} \lambda \mu(\lambda^2; q^2) \sin(q \lambda x; q^2) + \lambda \nu(\lambda^2; q^2) \cos(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2)$$

and

$$D_{q,x} \theta(x, \lambda^2; q^2) = -\lambda q^{-1} \mu_1(\lambda^2; q^2) \sin(q \lambda x; q^2) + \lambda \nu_1(\lambda^2; q^2) \cos(q^{\frac{1}{2}} \lambda x; q^2) + \mathcal{O}(1; q^2),$$

then, the use of definition 3.3 leads to

$$\begin{aligned} [\varphi, \theta]_q(x) &= \varphi(qx; q^2) D_{q,x} \theta(x; q^2) - \theta(qx; q^2) D_{q,x} \varphi(x; q^2) \\ &= \lambda [\nu(\lambda^2; q^2) \mu_1(\lambda^2; q^2) - \mu(\lambda^2; q^2) \nu_1(\lambda^2; q^2)] [\cos(q \lambda x; q^2) \cos(q^{\frac{1}{2}} \lambda x; q^2) \\ &\quad + q^{-\frac{3}{2}} \sin(q^{\frac{3}{2}} \lambda x; q^2) \sin(q \lambda x; q^2)] + \mathcal{O}(1; q^2). \end{aligned}$$

In the other side, the fact that φ and θ are solutions of (E) and by proposition 3.4 we can deduce that

$$D_{q,x} [\varphi, \theta]_q(x) = 0.$$

Then from proposition 2.1

$$\begin{aligned} [\varphi, \theta]_q(x) &= [\varphi, \theta]_q(0) = q^{\frac{1}{2}} \cos(q^{\frac{1}{2}} \alpha; q^2) \cos(q \alpha; q^2) + q^{-1} \sin(q \alpha; q^2) \sin(q^{\frac{3}{2}} \alpha; q^2) \\ &= q^{\frac{1}{2}}. \end{aligned}$$

The result follows.

4. Asymptotic Behaviour of $j_\alpha(\lambda x; q^2)$

In this section, our objective is to establish; using the method of variation of constant given in the last section; the asymptotic expansion of $j_\alpha(\lambda x; q^2)$ when $\lambda \rightarrow +\infty$.

We recall some properties given in [5]: For $\alpha > -\frac{1}{2}$, the q -Bessel function is defined by:

$$j_\alpha(x; q^2) = \Gamma_{q^2}(\alpha + 1) \frac{q^\alpha (1+q)^\alpha}{x^\alpha} J_\alpha((1-q)x; q^2), \quad (4.1)$$

where $J_\alpha(x; q^2)$ is the q -Bessel Han Exton [15], defined by

$$J_\alpha(z; q) = \left(\frac{z}{1-q} \right)^\alpha \sum_{k=0}^{\infty} \frac{(-1)^k q^{\frac{k(k-1)}{2}} q^k}{\Gamma_q(k+1)\Gamma_q(\alpha+k+1)} \left(\frac{z}{1-q} \right)^{2k}. \quad (4.2)$$

This function satisfies the following relations

$$j_{-\frac{1}{2}}(x; q^2) = \cos(x; q^2) \quad (4.3)$$

$$j_{\frac{1}{2}}(x; q^2) = \frac{1}{x} \sin(x; q^2). \quad (4.4)$$

Proposition 4.1. *The function $j_\alpha(\lambda x; q^2)$; λ being complex; is the solution of the following q -difference problem:*

$$(E) = \begin{cases} \Delta_{q,\alpha} y(x) + \lambda^2 y(x) = 0 \\ y(0) = 1 \\ D_q y(0) = 0 \end{cases} \quad (4.5)$$

where $\Delta_{q,\alpha}$ is the q -Bessel operator, defined by

$$\Delta_{q,\alpha} f(x) = \frac{1}{x^{2\alpha+1}} D_{q,x} [x^{2\alpha+1} D_{q,x} f] (q^{-1}x), \quad (4.6)$$

$$= q^{2\alpha+1} \Delta_{q,x} f(x) + \frac{1 - q^{2\alpha+1}}{(1-q)q^{-1}x} D_{q,x} f(q^{-1}x) \quad (4.7)$$

and

$$\Delta_{q,x} f(x) = (D_{q,x}^2 f)(q^{-1}x) \quad (4.8)$$

Corollary 4.2. *For $x \in \mathbb{R}_q$ and $\frac{\log(1-q)}{\log q} \in \mathbb{Z}$, we have the following estimation*

$$|j_\alpha(x; q^2)| \leq \frac{1}{(q; q^2)_\infty^2}. \quad (4.9)$$

Now, we consider the following q -Bessel equation given by:

$$(E) \quad D_{q,x}^2 y(x, \lambda^2; q^2) + \frac{\lambda^2}{q^{2\alpha+1}} y(qx, \lambda^2; q^2) = -\frac{1 - q^{2\alpha+1}}{q^{2\alpha+1}(1-q)x} D_{q,x} y(x, \lambda^2; q^2).$$

Let $y_h(x, \lambda^2; q^2) = \sum_{n \geq 0} a_n(\alpha, \lambda^2; q^2) x^n$ the homogeneous solution of (E_h) given

by

$$(E_h) \quad D_{q,x}^2 y(x, \lambda^2; q^2) + \frac{\lambda^2}{q^{2\alpha+1}} y(qx, \lambda^2; q^2) = 0.$$

Then, we have

$$D_{q,x}^2 y(x, \lambda^2; q^2) = \sum_{n \geq 2} \frac{(1-q^n)(1-q^{n-1})}{(1-q)^2} a_n x^{n-2} = \sum_{n \geq 0} \frac{(1-q^{n+2})(1-q^{n+1})}{(1-q)^2} a_{n+2} x^n.$$

By identification, we obtain the following recurrence relation:

$$\frac{(1-q^{n+2})(1-q^{n+1})}{(1-q)^2} a_{n+2} = -\frac{\lambda^2 q^n}{q^{2\alpha+1}} a_n. \quad (4.10)$$

If we proceed in a similar way of proposition 2.3, we can deduce easily that the homogeneous solution $y_h(x, \lambda^2; q^2)$ is given by

$$y_h(x, \lambda^2; q^2) = a_0 \cos(q^{-\alpha-\frac{1}{2}} \lambda x; q^2) + a_1 \frac{q^{-\alpha-1}}{\lambda} \sin(q^{-\alpha} \lambda x; q^2), \quad (4.11)$$

where a_0, a_1 are constants in \mathbb{R} .

Now, we give a particular solution $y_p(x, \lambda^2; q^2)$ of (E) in the form

$$\begin{aligned} y_p(x, \lambda^2; q^2) &= a_\alpha(x, \lambda^2; q^2) \cos(q^{-\alpha-\frac{1}{2}} \lambda x; q^2) \\ &\quad + b_\alpha(x, \lambda^2; q^2) \frac{q^{-\alpha-1}}{\lambda} \sin(q^{-\alpha} \lambda x; q^2). \end{aligned} \quad (4.12)$$

The q -wronskian is given by

$$\begin{aligned} W(x, \lambda^2; q^2) &= D_{q,x} \left[\cos(q^{-\alpha-\frac{1}{2}} \lambda x; q^2) \right] \frac{q^{-\alpha-1}}{\lambda} \sin(q^{-\alpha} \lambda x; q^2) \\ &\quad - \cos(q^{-\alpha-\frac{1}{2}} \lambda x; q^2) D_{q,x} \left[\frac{q^{-\alpha-1}}{\lambda} \sin(q^{-\alpha} \lambda x; q^2) \right], \end{aligned}$$

thus, using corollary 2.4 we can show that

$$D_{q,x} W(x, \lambda^2; q^2) = 0,$$

therefore

$$W(x, \lambda^2; q^2) = -q^{-2\alpha-1}\lambda. \quad (4.13)$$

Using the q -method of variation of constant (given in theorem 3.5) and proposition 2.1 we deduce that

$$a_\alpha(x, \lambda^2; q^2) = \frac{q^{-\alpha-1}}{\lambda} \int_x^{+\infty} \frac{1 - q^{2\alpha+1}}{1 - q} \frac{1}{t} D_{q,t} y(t, \lambda^2; q^2) \sin(q^{-\alpha+1}\lambda t; q^2) d_q t \quad (4.14)$$

$$b_\alpha(x, \lambda^2; q^2) = -\frac{1}{\lambda} \int_x^{+\infty} \frac{1 - q^{2\alpha+1}}{1 - q} \frac{1}{t} D_{q,t} y(t, \lambda^2; q^2) \cos(q^{-\alpha+\frac{1}{2}}\lambda t; q^2) d_q t \quad (4.15)$$

This leads to the following result

Proposition 4.3. *For $x, \lambda \in \mathbb{R}_{q,+}$, the solution $y(x, \lambda^2; q^2)$ of (E) is given by:*

$$\begin{aligned} y(x, \lambda^2; q^2) &= a \cos(q^{-\alpha-\frac{1}{2}}\lambda x; q^2) + \frac{b}{\lambda} q^{-\alpha-1} \sin(q^{-\alpha}\lambda x; q^2) \\ &+ \frac{q^{-\alpha-1}}{\lambda} \int_x^{+\infty} G_\alpha(t, x, \lambda; q^2) \frac{1 - q^{2\alpha+1}}{1 - q} \frac{1}{t} D_{q,t} y(t, \lambda^2; q^2) d_q t \end{aligned}$$

where

$$G_\alpha(t, x, \lambda; q^2) = \cos(q^{-\alpha-\frac{1}{2}}\lambda x; q^2) \sin(q^{-\alpha+1}\lambda t) - \cos(q^{-\alpha+\frac{1}{2}}\lambda t; q^2) \sin(q^{-\alpha}\lambda x; q^2) \quad (4.16)$$

On the other hand $j_\alpha(\lambda x; q^2)$ is the unique solution of (E) with initial conditions

$$\begin{aligned} j_\alpha(0; q^2) &= 1 \\ D_q j_\alpha(0; q^2) &= 0. \end{aligned}$$

Therefore, we can write $j_\alpha(\lambda x; q^2)$ as the following form

Theorem 4.4. *For $\lambda \in \mathbb{R}_{q,+}$ and $\alpha > -\frac{1}{2}$, we have*

1.

$$j_\alpha(\lambda x; q^2) = \cos(q^{-\alpha-\frac{1}{2}}\lambda x; q^2) + R_{q,\alpha}(x, \lambda^2), \quad (4.17)$$

where

$$R_{q,\alpha}(x, \lambda^2) = -\frac{1}{\lambda} \frac{1 - q^{2\alpha+1}}{1 - q} \int_x^{+\infty} G_\alpha(t, x, \lambda; q^2) \frac{1}{t} D_{q,t} j_\alpha(\lambda t; q^2) d_q t$$

2. Additionally, $R_{q,\alpha}(x, \lambda^2)$ tend to 0 when λ tend to $+\infty$.

Proof. To prove 2. it suffices to use (2.26), (2.27) and corollary 4.2, then

$$\begin{aligned}
 |R_{q,\alpha}(x, \lambda^2)| &\leq \frac{1}{\lambda} \frac{1 - q^{2\alpha+1}}{1 - q} \frac{2}{(q; q^2)_\infty^2} \int_x^{+\infty} \left| \frac{D_{q,t} j_\alpha(\lambda t; q^2)}{t} \right| d_q t \\
 &\leq \frac{1 - q^{2\alpha+1}}{1 - q} \frac{2}{(q; q^2)_\infty^2} \int_{\lambda x}^{+\infty} \left| \frac{D_{q,t} j_\alpha(t; q^2)}{t} \right| d_q t \\
 &\leq \frac{1 - q^{2\alpha+1}}{1 - q} \frac{2}{(q; q^2)_\infty^2} \int_{\lambda x}^{+\infty} \frac{|j_\alpha(t; q^2) - j_\alpha(qt; q^2)|}{(1 - q)t^2} d_q t \\
 &\leq \frac{1 - q^{2\alpha+1}}{(1 - q)^2} \left[\frac{2}{(q; q^2)_\infty^2} \right]^2 \int_{\lambda x}^{+\infty} \frac{d_q t}{t^2} \\
 &\leq \frac{C_q}{\lambda x} \longrightarrow 0, \lambda \longrightarrow \infty
 \end{aligned}$$

where

$$C_q = \frac{1 - q^{2\alpha+1}}{q} \left[\frac{2}{(1 - q)(q; q^2)_\infty^2} \right] \tag{4.18}$$

and the result follows immediately.

4.1 Application

We recall the q -equality of Weber integral study in [5].

For a, λ in $\mathbb{R}_{q,+}$ and $\alpha > -1$ we have

$$\frac{1}{A_\alpha} \int_0^\infty e(-a^2 x^2; q^2) j_\alpha(\lambda x; q^2) x^{2\alpha+1} d_q x = \frac{1}{a^{2\alpha+2}} e\left(-\frac{\lambda^2}{a^2(1+q)^2}; q^2\right), \tag{4.19}$$

where

$$A_\alpha = \int_0^\infty \frac{x^{2\alpha+1}}{(-(1 - q^2)x^2; q^2)} d_q x \tag{4.20}$$

and if we take $a = \sqrt{t}$ we obtain

$$E_\alpha(t, \lambda^2; q^2) = \int_0^\infty e(-q^{-1}tx^2; q^2) j_\alpha(\lambda x; q^2) x^{2\alpha+1} d_q x \tag{4.21}$$

where

$$E_\alpha(t, \lambda^2; q^2) = \frac{A_\alpha}{t^{\alpha+1}} e\left(-\frac{\lambda^2}{(1+q)^2 t}; q^2\right). \tag{4.22}$$

Proposition 4.5. For $\alpha > -1$ and $\lambda, t \in \mathbb{R}_{q,+}$, the heat kernel $E_\alpha(t, \lambda; q^2)$ has the following behaviour:

$$E_\alpha(t, \lambda^2; q^2) = \int_0^\infty e(-q^{-1}tx^2; q^2) \cos(q^{-\alpha-\frac{1}{2}}\lambda x; q^2)x^{2\alpha+1}d_qx + \Theta_\alpha(\lambda, t; q^2) \quad (4.23)$$

where

$$\Theta_\alpha(\lambda, t; q^2) \longrightarrow 0 \quad , \lambda \rightarrow \infty. \quad (4.24)$$

Proof.the result follows by proposition 4.4 and the fact that

$$\begin{aligned} \left| \int_0^\infty e(-q^{-1}tx^2; q^2)R_q(\lambda^2, x)x^{2\alpha+1}d_qx \right| &\leq \frac{C_q}{\lambda^2} \int_0^\infty e(-q^{-1}tx^2; q^2)x^{2\alpha}d_qx \\ &= \frac{C_q}{\lambda^2}(1-q) \sum_{-\infty}^{+\infty} \frac{q^{(2\alpha+1)k}}{(-q^{-1}(1-q^2)tq^{2k}; q^2)_\infty} \\ &= \frac{C_q}{\lambda^2}(1-q) \sum_{-\infty}^{+\infty} \frac{q^{2\beta k}}{(aq^{2k}; q^2)_\infty}, \end{aligned}$$

where $\beta = \alpha + \frac{1}{2}$ and $a = -q^{-1}(1-q^2)t$. The use of Ramanujan's sum (see [7]) leads to

$$\left| \int_0^\infty e(-q^{-1}tx^2; q^2)R_q(\lambda^2, x)x^{2\alpha+1}d_qx \right| \leq \frac{C_q}{\lambda^2}B_\alpha(t; q^2) \longrightarrow 0 \quad , \lambda \rightarrow \infty,$$

where

$$B_\alpha(t; q^2) = \frac{(-q^{2\alpha}t(1-q^2), q^{2-\alpha}t^{-1}(1-q^2)^{-1}, q^2; q^2)_\infty}{(q^{2\alpha+1}, -q^{-1}t(1-q^2), -q^3t^{-1}(1-q^2)^{-1}; q^2)_\infty}. \quad (4.25)$$

References

- [1] R. Askey, N. Atakishiev, and S. Suslov. An analog of the Fourier transformation for the q -harmonic oscillator, *Symmetries in Science* **VI**(1993), 57-63(B.Gruber, ed)Plenum Press, NY.

- [2] Agranovich and Marchenko, *the inverse problem of scattering theory*, Gordon and Breach, New York 1963.
- [3] PH. Feinsilver, Elements of q -Harmonic Analysis, *J. Math. Anal.* **141**(1989), 509-526.
- [4] A. Fitouhi and F. Bouzeffour, *q -Cosine Fourier Transform and q -Heat Equation*, to appear in Ramanujan Journal.
- [5] A. Fitouhi, M. Hamza, and F. Bouzeffour, The q - j_α Bessel function, *journal of approximation Theory* **115**(2002), 114-116.
- [6] G. Gasper and M. Rahman, *Basic Hypergeometric series*, Encyclopedia of mathematics and its applications 35, Cambridge university press, 1990.
- [7] M. E. H. Ismail, A simple proof of Ramanujan's sum, *proc. Amer. Math. Soc.* **63**(1977), 185-186.
- [8] F. H. Jackson, On q -Functions and a certain Difference Operator, *Transactions of the Royal Society of London* **46**(1908), 253-281.
- [9] F. H. Jackson, On a q -Definite Integrals, *Quarterly Journal of Pure and Application Mathematics* **41**(1910), 193-203.
- [10] T. H. Koornwinder, *q -Special Function*, a Tutorial, Mathematecal Preprint Series, report 94-08, Univer.Amsterdam.Th Netherlands.
- [11] T. H. Koornwinder and R. F. Swarttouw, *Special Function, and q -commuting variable*, in *Special Function, q -Series and Related Topics*, M.E.Ismail, D.R.Masson and Rahman(eds), Fields Institue Communication 14, *American Mathematical Society*,(1997), pp.131-166.
- [12] T. H. Koornwinder and R. F. Swartouw, On q -Analogues of the Hankel and Fourier Transform, *Tran. AM. S.* **333**(1992), 445-461.
- [13] A. Kempf and S. Majid, Algebraic q -Integration and Fourier Theory on Quantum and Braided Spaces, *J. Maths. Phys.* **35**(1994) 6802-6837.
- [14] V. A. Marchenko, Some questions in the theory of one-dimentional linear differential operators of the second order, *Amer. Math. Soc. Transl.* **vol 101**(1973).

- [15] R. F. Swarttouw, *The Han-Exton q -Bessel Function*, Thesis.
- [16] Ian N. Sneddon, *The Use of Integral Transform*, McGraw-Hill Book Company.
- [17] G. N. Watson, *A Treatise on the Theory of the Bessel Functions*, Lnd ed. Cambridge Uni.Press.London and New-York.